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37. WS i HFEE 36t o § fifea €, 9w
(A) T 7 & forerm forehr o o o+ S
(B) ST W 3R Wepfs 1 wER W)
(C) sl gl =1 T w1  forw e w1
(D) Hmﬁﬁsﬁﬁqﬁmmﬁ! e .
38. wmﬁn@umwﬁmsnﬁm, .
(A) TR (B) e =+ (C) ES O i

: h?.
Where is the National Sugar Institute (NSI) located in Uttar Pradest (©) Kanpur
(A) Prayagraj (B) Noida * .. (C) Lucknow o

3. SIS R W (TU) FAWRY T & el 107 oy
(A) rrummmﬁmm%mmmmmﬁmﬁm

ExGIRd

(B) 1TU Sfoisfia <o Jenell ot 3wt et @ s wmeil & o0 om Forercor 1 dfore e

| (C) Simivia =R = fafmafia |

| (D) ferehrereiier = & qRam sverivar 3 feru ferter warren we ol €1
'

What does the International Telecommunication Union (ITU) dp ? : .
(A)  The ITU monitors global internet traffic and regulates online cpnter_tt and social media platforms.
(B) ITU oversees international postal servtcgs and regulates mail delivery across borders,
(C) Regulating international telecommunications. ' _ _
(D) Provides financial support for telecommunication infrastructure in developing countries.
40. mmm*w'mmmmﬁmm%? ‘
(A) Tt dre =t gen ¥ fag (B). iz w9 wW & faw.
| (C) o % F2X ¥ foru (D) e S1R ¢+ =g % e
L What is ‘hashtag’ used for on social media ?
| (A) Todeletea post

(C) To decrease likes
41, T RN AR o w2 .
(A)  STRIE =R S o fafmafig =t :
(B) It =¥ % fomra 9 s 37
(C)  Gam Sewdl & forw s wedh wrent
(D) =7 &l § Teramy Wi it waifug % :
What does quadrilateral security dialog do ?
(A)  Regulate international trade world :
(B)  Promote infrastructure development --..

(C) Enhance maritime cooperation for security purposes
(D)  Address climate change in forest regions

|42, SIS w1 @ R 352

(B)-. :To decrease content
(D) Toincrease engagement and reach

(A) SR siRech (B).. S wemmae
(C)  Tonfierr witeity (D). TR frerg
Who discovered Oxygen ? R

(A)  Joseph Priestley (B) Georges Claude

T ——

(C) Christian Schonbein (

(D). Bartolomeo Cristofori
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CPCB stands for : oard - ++(B) " Control Pollution Control Board

(A)  Central Pollution Contro! B D). GControl Pollution Central Board

ion Central Bare = 172
(C) Central Pollution Gen ) Hﬂ'«fg%?- |

ST e 35 gt (12024 T (B). Jfad draere
(A) o e v ' (D). - AR S

—_—

v e : 4)?
$Nr)10 is the Chief Minister of Rejastnan s.t?ée)__v ‘(as.S :fc .tJ];Jnn; ilzo(:z )
o Erelan Ll St (D) Vasudev Devnani

(C) Kalraj Mishra 27
ST  war-seée e 1 S HH 1 GEA A FE
(A) % ooy o 3 o 59 el ©

(B) =& T A TAF@E

(C) 3T foru & GewIfTdl i SAETdehdl '@?ﬁ %

(D) & ¥l FEEAFRAE |

What is the main advantage of using a double-blind study in research ?
(A) Itis less expensive to conduct

(B) It simplifies data analysis

(C) It requires fewer participants

(D) It eliminates researcher bias

ﬁmﬁwﬁaaﬁﬁmﬁﬁrmmmmmw%?

(A) R (B) . ¥

(C) T=arEm . (D) UerenfTh fegpem
Which of the following is known as the Powerhouse of the cell ?

(A) Mitochondria (B) Nucleus

(C) Ribosome (D) Endoplasmic Reticulum

mmﬁ%ﬁaﬁq(wsn & e & R ?
(A) qﬁﬁﬂﬁrﬁfaﬁﬁwﬁa;m

(B) eI T 1 W ooy 3 oy,

(C) "3 3 P9 3 g a1 it e ok % g e

(D) ST TSl 3R 20 e 3y ey 0 3. |

(A) To monitor the sun'SOf the Large Synoptit:: Survey Telescope (LSST) ?

activi
(B) To detect gravitatj y

Onal waves s
(C) To observe and Calalogue near Eanrf'loiij-écts
(D) To study dark ©Nergy and dark matter . -

#@Wmmqﬁmqﬂw%?

What is the chemicg formy) i
a of ?
A N, BN Nitrogen 7
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e  femhadt 31w Sfean’ forges g forelt 6 22
(A) i B frren (B) wErRdl i
(C) Hfrefiror Ta (D) e e
The book ‘Discovery of India’ is written by whom ? _
(A)  Suryakant Tripathi Nirala (B) ‘MahadeviVerma.
(C) Maithilisharan Gupt (D) Jawaharlal Nehru
2016 Wi e § T e W e i Sifer fatey = o ? 4
(A) 30 feamR (B) 31 fewm (C) 15 s tiénq
What was the last date of tendering old currency in 2016 demonetisa (D)l 5 Novaris
(A) 30 December (B) 31 December (C) 15 October
SAFE i IS J HF T30 T TS 7 7 Rt
(A) HIF T SRR (B) w4
(C) e | (D) =
Which country is the largest by land area ?
(A)  United States of America (B) Russia
(C) Canada (D) China
AAAEHRT St T Soon 7ot 759 quiis we T ?
(A) 10 fgEsR 2022 - (B) 10 fggsw 2023
(C) 10 fgH=R 2020 B (D) 10 fagsw 2021
When was the 75! anniversary of the Universal Declaration of Human Rights celebrated ?
(A) 10" December 2022 (B). 10t December 2023
(C) 10t December 2020 (D) 10™ December 2021
frafafea § @ S o e Hfen <ewm 77 §2- { ora -
(A) Rl (B) ETH (C) f@oi (D) e
Which of the following is not a social media platform ? 3104 Ano
(A) Naukri (B) Faqebook (C) Twitter (D) Instagram
AR WIES. <kl 359 Sif¥arch TsHifoes ferat st fRe TR 99ifem s 2
(A) T fedl W M Higa Fh :
(B) SRS Hedl i Helad Hih
(C) Hren afveh FAITE! o1 THIUM Hth
(D)  TrSteiifeh YETul Sigiht 3R Tehifs deenell B SR un
In what ways does the rise of populism affect global political stability ?
(A) By focusing on national interests _
(B) By strengthening international cooperation
(C) By addressing shared global challenges
(D) By increasing political polarization and undermining demog

aTaraTg Tkt ST 1 wefis St R ‘
(A) ol qoEl bt TRl T (B) eed SR Wiy
(C) fomfeal =1 AN TR HTT (D) ‘TR 1 A =
What is the primary objective of counter-insurgency operations ?

(A)  Supporting insurgent groups (B) Negotiation and com
(C) Providing amnesty to insurgents (D) Military suppression q

20 THR

ratic institutions

Promise
finsurgents
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:i)ST;;;aﬂwwg g (C) F=Ad () Faide
What :jn(::rsv ;Il" in |G$T S;Z?d f?,:tggrate d (C) . Internal (D) lmportant
(A) S (B) @ (C). faet (D)
X?mh()i::;zf: g ?;?trag?i:bane (C) Sydney | (D) Melbourne

Freifafen § 4 s @ e e 84 (RBI) amwfqﬁ%?

(R). ¥R IR * faffin H (B) =YE e St T

(C) wHfwmHfamaen (D) Focel gm wn bt
Which of the following is not a function of the Reserve Bank of India (RBI)
(A)  Regulating the stock market (B) Issuance of currency notes
(C)  Conducting monetary policy (D) Regulating foreign exchange

TS forehr S (ADB) 1 FI €

(A)  ¥TE T 3T 3 i AR GHEGT b e ¢ |

(B) I% ufr-wwia 2w # focia el ! Fifd e 21

(C) e e wiisei % foag forta werrdt YoM e B |

(D) & TEE 3T o T THSSI Kl FH HLAl €

What does the Asian Development Bank (ADB) do ?

(A) It enhances trade agreements between member countries.

(B) It regulates financial markets in Asia-Pacific countries.

(C) It provides financial assistance for the development projects.

(D) It manages the stock exchanges of member countries.

wRd § TEel Yo Ao e o o 2

When was the first five year plan implemented in India ?

(A) 1966 (B) 1951 . (C) 1961 (D) 1946
e M, S & & F (3 2024 7) @R H A, Br 2 F T WA T a2

(A e (B, ; © T () A
Luis Montenegro, recently seen (as of April 2024) in the news s S
which country ? ( ot § ) » became the new P rime Mlnlster of

(A) Poland (B) . Spain (C—) Portugal (D)  Mexico
I | HTST S e § sty 3frfd sik afﬁmqﬁw’rmﬁaa;ﬁﬁmm%ﬁam%?

Which organization focuses on enhancing regipnal connectivity and ‘economic integration in

?

South Asia ? £ )
(A BRICS (B) ASEAN (C)./SMRC (D) OPEC.
W“ﬁmmﬁmﬂﬁiwm#ﬂaﬁaﬁmaﬁﬂ@iﬂ%? _
A FEB B ey (o)eemEkie () TR 21

ich article of ' o L
Whic of the Indian Congtitution guarantees the freedom of speech and expression 2./

‘ Article 25 A
(B) Article 14 (C) Article19 (D)  Article 21
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(A) e T (B) i THEE
(C) wirs faferam sifesw (D) T =IeH HeFlr®
First Governor Generalof Indiawas_____. :
(A)  Robert Clive (B)-—:Lord Amheriﬂ s
(C) Lord William Bentinck (D).~ Sir Charles 35 st o ¥
A 3 G & %WWMQW%}?W
(A) WS SgEE (B) el g |
(C) =di gl (D -~--m W f the Constitution of India.
Cybercrimes fall under State subjects as per the ____._.aole ‘ .
(A)  First schedule : (B) ~Seventh schedu B
(C) Sixth schedule (D)¢ Third schedule
M e € s f

(A) HEN A1 T HH HiAd W foh

(B) REFAHA

() FrReid mmﬁr{ﬁ%“ﬁw*mﬁmmw e i Tt
(D) ﬁmﬁwmmweﬂwaﬂ?wﬁawmﬁaﬁﬂﬁﬂm

Dumping refers to :

(A) - Expensive goods selling for low prices
(B) Reducing tariffs =i
(C) In abroad Saie of goods at a lower pnce” below thelr cost and pnce in thelr home market

iy wie1 dfy R o ﬁ'm&nmﬂmﬁi
The Indus Waters Treaty was signed in the year ‘
(A) 1952 (B) 1949 _(C) 1960 ~ (D) - 1950
wﬂa egz’r fear = s 2

10 e (B) 5 3@ ' S
When is National Maritime Day celebrated ? N ' T
(A) 10 July (B) 5April (C) 4March D) 74
ﬁmmﬁmﬁeeoxmww%[ L s
(A) T SRHYE THEfag (B) fd feurdiz

RSREIE]
- (C) frud feurtde Trwifaa (D) RE Soeife Taywhfiy

Give the full form of RDX, from the options below.
(A) Raw Detonation Explosive (B)—:-Research De
partm
(C) Research Department Explosive (D)* Research Developrig;tE E?(z?;slf:/ne

mﬁemwﬁmﬁm%mwﬂmsmwwmw oq?

(A) foreeh i (B).:.iw

(C) =ngar CEREY e i

Which among the following was des; nated th fi ioni
India ? | gnated the first RAMSAR site under the Ramsar Gonvention i
(A) Chilka Lake (B) —:Sunderbans | |

(G) Wadhwana Wetlands (D) AshtamudiLake
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"W”(mmﬁﬁﬁ“@wm AR (D) HferRT

A E= (B) TR (Cr{) n 17t ' |

Who wrote “Mrichchhakatika’ (or the fitle clay ca eantasena (D) Kalidasa

(A)  Sudraka (B) Charudatta s {5+ Y0 ' 7

? =7

9 forfim & 4 e e Fe AT ¢ , P

A Fﬁﬁgﬁgwam o) (B) WW : %}gx\
| | (D) wiegfeh TafafeEr aq'ma. X!

(C) 3 srHFM _ Ny
Poverty in less developed countries IS largely dueto : 3 eé 1% lyf

A ol ople (B) Voluntaryidleness

gc)) hi%kn?é Ii%eclllﬁi?: S - (D)  Lack of cultural activities o N\
o ifrr = atrs e (9 6 oY) 3 T S T 82 ¢ ;
(A) e () a (C) o= (D) dRES %_595
Which mineral is known as ‘Buried Sunshine’ ? . e

(A) Coal (B) Iron (C) Mica . (D) Bauxite \
2016 & s & Ty e i 1 MeAfh See 7 o412 el
(A)  HIRIE TS ) T (B) mmmm : {

(C) e foemma =it sgm@ (D) HETEHIfd T HH FTA .Y C
What was the primary objective of the demonetization policy implemented in Indi2in '?)<
(C) Boosting economic growth (D) Reducing inflation X

(A)  Promoting cashless transactions (B) Curbing black money Q)x"’ ) A

i
HErd IR Yo &l 3L 12.36% H TGHT TR ?‘g?(/‘;gj‘f\_o
)

Central Excise Duty rates were increased from 12.36% to
(A) 20.0% (B) 13.10% (C) 12.50% (D) 16.50%

A, B 3R C =t Wfafea &t aifaa o1 45 03 €13 A 3iR B+ wffeq #7 ofimd o9 40 399 2 ik B &k
C ot Tfdfed =i 3l T4 43 T3 ¥, @ B 9 Wil &t T FE?

The average per day income of A, B and C is Rs. 45. If the average per day income of A and B is
Rs. 40 and that of B and C is Rs. 43, then the per day income of B is : i

(A) Rs. 425 (B) Rs. 30 (C) Rs.3t (D) Res. 415

o femstt/dar A e A e Y '

(A) 15¥UTHS  (B) 05HeyFE  (C) 2.5 ; ;

Convert 9 km/hrinto m/s, i %/m (D-) EHE

(A) 1.5m/s (B) 05m/s (C) 25m/s - (D) 35m/s

e T T A 51 Rl 3 e 1 orer ) 1 4 500,
AN . 50% e Fvrer &, W former 6
A 10012)TT (B) 44 fiq (C) s2fm (D) 34 f

Komal can do a work in 51 days. Bimal is 50% 4 N2
rmany days Bimal will dy g vror.kB'.:’mal is 50% more efhcugnt than Komal in doing the\vqoﬁn), In how

(A) 10(1/2) days (B) 44 days - (C) .327days (D) 34days }(@‘6

6/5, 7/10, 2/25 1 TR Feyed (L o)
’ LCM) 3T =hifer |
Find the LCM of 6/5, 7/1, 2/95 {3 £ &C‘P
: A
R R LB L R J e

S \=t e (D) 43/5
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80. A 1,12,000 ¥ I Yt I e e Y fra| 2 HE A% B;é%mwm ﬁﬁ?"ﬁ:;‘rg i)
ST ¥ A B T, Tl 3% 2 WER AR C 3 7&000@3’&1@% +f 8,000 mﬂam—e‘rm:m
ST I YEAE A 10 T W=, B Y 8,000 T 1 & ferd 3 C m;ﬂan? -
Bl o & ofd & = H | 9% fed 3 9,800 T W gC W FA A 30.800'&1'3{
(A) 33,600 TR (B) 32400%W - (C) 35800FF (Dd)the kiR a capital
A started a business with a capital of Rs. 1;12,000. After 2 g ths:= J-Or:ne capital of Rs. 72,000 :ﬂer
of Rs. 80,000, and after another 2 months, C joined the business Wit C?also oo B 8,000 o
10 months from the start of the business, B withdraws Rs. 8,000 and e kot brafitas s
B received Rs. 9,800 as his share in the profit at the end of a year, then s gt ’
(A) Rs.33600  (B) Rs.32,400 . (C) Rs.35800 (D) Rs.30,

81, TR 28 G i o ot 5 ) @ 9 % e g, 7 S 0.5 7 T, 1 e S
B G I S 37 Y2 & FOF E]
The average marks of 28 students in Mathematics was 5. 8 students left the school, then this average
increased by 0.5. What is the average of marks obtained by the students who left the school ?

(A) 4.56 (B) 5.05° (C) 375 (D) 4.25

82. T T < IFTAR A1 10% Fawsl  HagH el fopan | 60 wa 3rdy W T | forsian SHHIRAR H1 Fel wal
I 47% T el & 3R 98 308 Tl | S &, A THifeh Hacwsi i e I hiteie |

There were two candidates in the election. 10% of voters did not cast their votes. 60 votes were found

invalid. The winning candidate got 47% of the total votes and won by 308 votes. Find the number of
voters enrolled. 5

(A) 6,340 B) 6150 - (C) 6600 (D) 6200
83. S 1 AW R 5% T2 F W TH WK 608 T H 20 Frcito i A T T &, 4 <

With a 5% discount on the cost of sugar, a‘buyér could
is the original selling price of sugar ? . ‘

purchase 20 kg more sugar for Rs. 608. What

A) 16 (B 1450 T (0 15 (D) 16.50

84. 17 Y&l 1 720 ¥94 H I=1 F G, @Wﬂm%ﬁﬁﬁ’g@lﬁ%mt@qﬁaﬁ@% il
&I 1 hd Jod T €72 ; _ P e
After selling 17 books for Rs. 720, a shopkeeper says that he losses b :
A | | Oy C.P. of 5 books. Find the C.P.
(A) Rs. 90 (B) Rs.50 .. (C) Rs.60 '

(D) Rs. 120
85. T THMIR Toh %] h Sifehd T W 12% T T8 TER 0 % f fgrg 5
siferd e T2 | Wiszom%,a‘r@%
price Is,

A shopkeeper allows a rebate of 12% on ihe”marked brice of. ah a icle :

Rs. 1320. Then the marked price of the article is : - "ticle such that the selling

(A) Rs. 1550 (B) Rs.1490 " (C) Rs. 1500 (D) Rs: 1650

86. Wnﬁrzaﬁfﬁmaﬁﬁﬂmmﬁgﬁ13,520?@3};.@%,3}%“@ a7

A sum becomes Rs.13,520 in 2 years at 4% per annum compound inter et B 7

/ R .« m

is : | : 7 est. Then the original su Ci
(A) Rs.12,500 (B) Rs.12250 . (C) Rs. 12,700

(D) Rs. 12,450

RZX-24 W ﬂ% PTO.




88.

89.-

90.

91.

92.

93./
- The LCM of the two num

&%mmzﬁm: 20%39n28%ﬂ%,?ﬁ'§@1Y'@@TXﬁmﬁmm
Y , i

i 287 han a third number Z. By what percentage
ly 20% and 28 % less t
Two numbers X and Y are respective ,

?
is the number Y less than me1n;’;nber B (C) 10% (D) 9%
A) 8% (B) fte P ‘ _
e 3R B 30 Tt/ 1 7fa § A At g,

<l fig A 4 B e 50 T 1 0
S sirgq 7 9@ Fied | e !

(A 375Fedda (B) 45 ffi/ga - (C) 40 fepet/ e .(D) 42.5 Terst/=e 5
Kartik walks from pointAto B with 50 km/hr sgegdfand returns B to Awith speed of 30 km/hr. Find his
average speed. =

(A) 37_5pkm,rhr (B) 45km/hr ~(C) 40km/hr (D) 42.5km/hr 9 .
mamaﬁmqgmgsmaﬁmum@rwﬁ,ﬁwamﬁml 057{ \@
The amount will triple in 25 years on simple interest. Find the rate of interest. 0\

(A) - 10% (B) - 15% (C) 12% (D) 8%

T - R ) 1900 T A 9 T TR 5% Fi A0 551 30 2080 T F S W TR e B
Y B ? 0T =M -

By selling a tape-recorder for.Rs. 1900, | lost 5% What percent shall | gain by selling it for Rs. 2080 ?
(A) 19% (B) - 8.5% (C) 4% (D) 4.5%

T 9, T I 19 3R R ¥ | @ o 3 e B e R, 58 o A 8(1/2) R @
€, T T & H gl 7 & R - welt w0 A v w2
(A) 10(1/2)k  (B) 2% (C) 21 (D) 6(1/2) ©e

A pump can fill a tank with water in 3 hours. Dlzjé, to leakage in the bottom, it takes 3(1/2) hours to fill it.
In what time the leak will empty the fully filled tank ?

(A)  10(1/2) hours - - (B) 112 hours 2 (C) 21hours (D)  6(1/2) hours

T W H STTE, X SRY, 523 3 orguw 1 7 8 o fagw Freen e 8, S HR 1 W@ Y AR
feel STl &, X SR Y 1 g 2 3 91 i 1 et & e 4 e e et X o012
A container contains two liquids, X and Y,intheratio 5 : 3. When 8 liters of the mixture is drawn off,

and the container is filled with liquid Y. the ratio : ' iqui
in the container nitially 2 - q h of Xto Y becomes 2 : 3. How many liters of liquid X was

ol | @
. o
(A) 26— (B “(C L H O
S LR
a‘rm&ﬁ%LOMwS%éfﬁmHCFs%mﬁa’maﬁma‘moo%aimammﬁﬁm

3, their differeficay fo befS IS 495 and their HCF is 5. If the sum of the numbers is 100, then find

. 94.

(A) 20 o B) 5

P O Gy TR (D) 15
%WW WWWWB 1 & ,ﬁwwmmﬁmmaﬁqaﬂtmﬂ
The ratio of glycerinjfgm i 3 m:‘ﬁw FIM1:1ASW?
off and subsiituted by y ‘:vater In a mixture is 3': 1. How much fraction of the mixture must be drawn
Al8r 50 that the ratio of glycerin and water becomes 1 : 1 ?

(A) ' 34
5 113 (C) 1R (D) 23

12



W | o5, frffed § 4 9 T o e, e Sl st 3 o Wi F W IS T W iy

Which of the following diagrams best represents the relationship between Exammatxon Queg

e and Practice ?
O O

x| A - - ®)

js |
| (C) G@ . O
O
) 96. = “EVEREST’ %a@ﬁmﬁwﬁm@amwﬁwﬁwaﬁmmamw
-9 B ?
If the letters of the word “EVEREST" are arranged alphabetically, then which letter. would be 2nd, the
= right from the second letter of word ? . R
(A) S (B) E (B) N s (D) R
) ? = ‘ " . .
97. 3% 39 10 HIR SW H R = afr{ﬁ?ﬂao ferht <r¢ ol g2 it o o o & < W@ €2
o (A) ufEm (B) far - (C) W (D)
Which way are you facing now, if you walk 10 meters to the North and then turn 180 degrees to the
right ? = ‘ ‘
lit: (A) West = (B) Southf—:‘-’ (C) North (D) .« East
| 98 ﬁmwﬁﬂmwm‘ﬁmwmmm%lﬁmﬁm
| 600 1
R Given below is the pie chart which shows the percentage d|stnbut|on of the five types of ice-creams
' available. Total number of ice-creams is 600.
ff, -
as ICE - CREAMS
3@ ! Caramel _ Vanilla

o 118 12%
S Chocolate ﬁ

3
Butter-scotch ) 2

nd
Blueberry
B mmmmmmﬁﬁmwwwmwwwﬁwﬁ
e 21 aifereh B, o SO STEWHM G o1l Wfeemat! i §&m 3w wifo) -
, If number of females who bought Vanilla ice-cream is 21 more than number of males who boug
L same flavoured ice-cream, then find the number of females who purchased Blueberry ice- crea”
(A) 25 (B) 82 (C) o1 (D) 20

=) ‘ . 210.




99, mﬁa(?)%wmma@ﬁﬁﬁﬁﬁﬁmﬂﬁQI

Choose the appropriate figure from the Answer Figures to replace the question mark (?).

w M| oA |0 ofR

100. 5% forshey g wifory ot v Fo & I R S
Find out the alternative which will replace the question mark.
16:7::36:9 ' ‘
(A) 9 : (B) 5 (C) 7 (D) 20

101, W% 7 forvemm wth T &1 I Qo |

By analysing the graph, answer the question.

Foreign Exchange

6000
5000
4000
3000
2000
1000

g

- | For;ei'gﬁ Exchange
A (f

[}
=2}
o
h)
(2}
(o2}
2]
-~

1993-1994
1994-1995

1995-1996
1996-1997

O

,)5 ?ﬂs} _,Q;

1992-1993=2520
1993-1994 =4201
1994-1995=3720
1995-1996 =5040
1996-1997=3120

fefrr e ERelt 51 fem 3 Ryl and ot e # e g Wl s 30

For which year, the percentage increase of foreign exchange reserves over the previous year, is the

highest ? _
9 19931994 (B) 19921993 (C) 19941995 (D) 1996-1997
102. *EET H 9 FEIE (ASB) T % sty - A 51 7 T

Find the missing numbers (AgR) ; : ;
51,57,63,A, 75,81, B (A&B) in the series and find the value of B—A;

4 |
= (€) 22 (D) 18




1S the

103. 3§ §@en # & w& mwm: Z, W, R, K, ?
What comes next in the series : Z, W, R, K, ?
® D ®) A © B P @ C

104. qmaﬁaﬁgﬂﬁaﬂmwm%aﬁhsaﬁmmaﬁ#ﬂm%’ ﬁ“?“‘_"’-wﬁ 3R, fipg
5 v i 2 s a7 1 e g 9 o g A e e 4 S e = %7
(A) 2 i wivem SR 3 =H IW . (B) 4 e e G 4 FH T
(C) 1=imuEmaR2=FEIR (D) 7 it e 3R 3 = SW
A person starts at point A and walks 5 blocks North, then 3 blocks West, then 2 blocks South and
finally 1 block East. What is the person'’s final position relative 0 pointA?

() 2 blocks West and 3 blocks North (B) 4 blocks West and 4 blocks North
(C) 1 block West and 2 blocks North (D) 7 blocks West and 3 blocks North . - ¢

105. @asﬁwqﬁaa&égqq'w%m,“aﬁﬁﬁtﬁﬁﬁﬁ?ﬁaﬂﬁéﬁ%l”ﬂﬁﬁﬁﬁﬁﬁm
22 |
(A) = (B) st (C) i (D): W

Introducing a girl, Anthony said, “She is the daughter of the daughter of the mother of my aunt.” How is
the girl related to Anthony ? ,

(A) Sister (B) Neice (C) NephéQ\g (D) Brother *
106, *faen § e e (ABB) T X 3 B— A A T HL 2w |

Find the missing numbers (A&B) in the series and find the value of B—A. \1 R

123, 148, A, 198,223, B, 273 Q 2.3 \

WETIONg 3B 2 /ai%m g0 e (ﬁ \:é
107. %ﬁw%ﬂ fog ¥ W ) -

Find out tr}e alternative which will replace-ttie ion mark.=.. L 9\

138:18%::723:7 \?Yﬁ
(A) 79 (B) 728 (C) 732 (D) 772 r@’ﬁ

108. A IR@ T Frwet # MeHhM 3R ¥ T ST G kT S 9 § | STRHRy 3 v9d § SR g wwd |
2 03§ 99 9@ ¥ | T 262 T4 T g R At 7 fEF IR amemsm O w2 6
The Venn diagram shows the number of people who bought ice-cream a inks i tre.
\ce-cream is sold for INR 3 and drinks are sold for INR 2. Atotal of INR 262 is Sr?sn drirks in & ;r;eez i

bought both a drink and an ice-cream ? . ‘ }

Drink Ice-cream . S 3 G 20

AR 9%
1
22 | 5
(A) 28 (B) * 30 © 40 (D) 44 1 /l‘f';? 7,
109. Fretferfan 7 @ 0 ¥ & SR SNt ot wR A E2 3507,

Which of the following words has its letters in an alphabetical order ? l 6‘26

(A) Work (B)  Drizzle (C) Swim

TPy

RZX-24 15




- 110.

111.

112,

113.

114.

Pt s 4 é o @ S €
A+BF oA BHATE

A —Bw s A BH T E

A*Ba st A BRI
ApBFEdEA BH MR

he following question pertains t0 the given information ;

A +B means Ais the mother of B.
A—B means Als the sister of B.

A* B means Ais the father of B
A B B meansAls the brother of B.

Frefafan § § 39 @ G 2 § N M & A e ?

Which of the following indicates that“N is the maternal uncle of M"?

(A) NBP-L+E-M © 7 (B) Q*N*M+P

(C) P+N*M*Q (D) QBMBN*P

Ifx 'FACULTY' Ui ¥ Y, T, Wieidl 3T Hreel a@mmﬂm@wﬁwmwm%
e W 91aR 1 T T AR ST R T, S5 U T I 3 S SER T ST I R AR
R g e e S e ¥, A o S A X & w9 A fafe O AR CE aAfers T w1 ST
N TF £, W IR A 7 F T H el Bl ' |
If a meaningful word can be formed-using the second, third, fifth, and seventh letters of the word
‘FACULTY’, with each letter used only once, then provide the last letter of that newly formed word as
your answer. If no such word can be:formed, mark your answer as-X'. If more than one such word can
be formed, mark your answer as ‘Z’.—.

(A C ® x = (0 Z DY

Y v/ srerdl e w1 T W TS € S e 9 T 1 T & 3T 39 7% IR S fasheq fg e
¥ | 3 fosedi 1 vl F1 78 G T 0 e e o e F WA el oY o A e
Given below is a pair of words/letters/numbers separated by a colon and followed by four answer
choices. Choose the pair of words in the answer choices that best expresses a relationship similar to
that expressed in the original pair.

ABC : ZYX:: .

(A) CBC:XZY (B) BCD:YXW  (C) CDE:XvVZ (D) BDE:XCD

If a8b=a2+b+1, a§b=a+b2+2, 7 (4$3)&2 T H{|

PPN O N

" lfa&b=a2+b+1,a$b=a+b2+2, find (4$3)&2.

(A) 286 (B) 228 = (C) 242 (D) 322
g KxL ARk L fram € K+ L FAadeFK LR e ol KL wod S ek L

qE Y, AMNOXP HNFP Y G2

(A) N,PFERE 3 (B) NPEIIT
(C) N,PHRITAR = (D) N,PHRUWEY

If ‘Kx L' means Kis father of L, ‘K +L means K is wife of L and ‘K +- i
whatis the relation of N with P in ‘M+N+OxP" ? : meRm e S Of g
(A) Nisthefather-in-lawof P ~_: (B) Nis the uncle of P

(C) NisthesonofP .7 7 (D) Nisthe cousin of P

RZX-24 16
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115 ST R A 300 et eqrem s aqeey i @1 ol Fon 2@ €7
A i’ - —ufyem
L b SR (B) g . (¢) o (D) ST )
Aperson Walking towards North - East direction sees his right hand in which direction *
(A)  North-East (B) South-West . -(c) South-East (D) North-West

116, 7 'REGULATORY', w1 3 it syt o oo aofen s 35 eI retesd foneft ST, M [

T D B St o ey o @2 " .
If :s”ittige letters in the word ‘REGULATORY’, are arranged according to English alphabetical order, the
p ns of how many letters will remain unchanged after rearrangement 7

| 3 W 2 ® 5 Yo 4 O3
ot TR T R e o 15 e 10 Rt & s v 8 6 R H R HA S e ey
Hﬁ?ﬁ Elﬁ AT har E?frn':) At e
How many workers would be needed to complete the same task in 6 days if it takes 10 days for
15 workers to complete a task ? :
(A) 28 (B) 25 (C) 18 seivito (D) 12 :
118.!:1?'95_4743% FBADA % &9 & ferar st 2, <t 96457 %t $ fern wman € 2 E M}D
i It 95474 is written as FBADA, then how is 96457 written ?
| () FDACB (B) FCADB ' “(C) FDABC (B~ FCABD
| tto, fer o e Y 9 T S 2 | Rrger o o & v Tl @ T it wen & gafter @
5 T S S 21 e S A W |

Examine the table and answer the questidﬁ'_.:fNumber of Candidates Appeared and Qualified in a
Competitive Examination from Different States Over the Years. o

e

Heera is the daughter of Amal’s father’s

Ol Amal, Murali is Rema’s fatl";er. |
l li 7 — | & \ ;

A |s,S li\Srt);e: related to N:Lg)a dother M (C) Niece (D)’ - Grand-daughter

. 1997 1998 © 1999 2000
\ | e App. | Qual. | App. | Qual [“App. | Qual. | App. | Qual.
) M | 5200 | 720 | 8500 | 980 |-7400 | 850 | 6800 | 775
i N | 7500 | 840 | 9200 | 1050 [ 8450 | 920 | 9200 [ 980
-. P | 6400 | 780 | 8800 | 1020 | 7800 | 890 | 8750 | 1010
'\ [ Q] 8100 | 950 | 9500 | 1240 8700 | 980 | 9700 | 1200
'\ IR 7800 870 7600 940 9800 | 1350 | 7600 945
i [l Fra— Aot SrfeER] H FE SE, 2oooﬁmﬁwq’f%a?ﬁufauﬁaaﬁaﬁ§miww
. Total nymber of candidates qualified from Aa_ll_thg. states together in 1998 is approximately what
U Perteniage of the total number of candidates qualified from sll the states together in 2000 ?
W 107.17% (B) 108.17%  —(C) 10827% .. (D). 109.17%
B s\ ) e o A E S feret 1 9 S ST A R | et Yo 3 e €
T ey o e el €7 b i A%
n ) B) _(C) ,_ iy-/(D) . el
sister Rema. Aryais the daughter of Divya who is the mother
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121, s ey o il & ot 600

ﬁgqﬁfﬁﬁ%OﬁW*ﬂWWﬁWiﬁT,ﬂSﬁWW%

il l wﬂﬁm@|maﬁrﬁaﬁ,1sﬁwﬁfﬁwaﬁtmtﬁmﬁm,
o mﬁﬂzﬁm g 28 ST T, S 20 3 WA SR ffeteet siomt S an | aw gy
i Wsi”;'é'@mm e A ‘«’quﬁ] T L2

1s invited to the New Year's party, 250 opted for Indian food, 175 had Italian fooq
Out of the 600 gu?‘iental food. Additionally, 15 guests had both Indian and Italian food, 10 hag both
ﬁglc?al] Oonzagoﬁgzémal food, and 20 had both Indian and Continental food. Seven guests had al| three
types oaf food. How many guests dd not aliend the party 7

R 145 @) 134 (C) 120 (D) 136

122, o s - A ST O A e 90 Fenf 3 v SR e % e e <o e

i

&

124

(A): South (B) South-East  * (C) East E(D) North-East
A ? .
/Mi'@w 36, 54, 74, 96, 120, piead , 1

45 Torh 3 2w o 31 00 Wl & S e e o R R R
(A) @) Fo-w © w (D) -

A man facing South - East makes ’fhret_a turns of 90 degrees in the anticlockwise direction and then two
45 degree tumns inthe clockwise direction. In which direction is his right hand now with respect to him ?

1h T
Completedrihgseries 36, ?_4)@9&/1 ?0, i § q o
(A) 148 &%) Yok (C) 165 146 %
. af MANGO #1 80415 % &% ¥ Fifee el T &, 4 e & P sy wve 1504 27

If MANGO is coded as 80415, then which of the following has thus numerical code 81504 ?

(A) AOGMN () MNGOA - (C) MGOAN (D) GOANM
125. S{@18,40,70108,_©  qhwil | M (0N

126

127

; N
Complé\tgthe series 18, 40, 70, 108,
(A) 164 (B)

134 (C) 144 (D) 154

(5 . \
- TR et 4 % e o | ('%\\%x;

Find the odd one out from the given options.

(A) 852 (B) 5 . (€) 25 (D) 125’@@

+ ST S 0 3 g ) e 00 /?L\/
Place the quiestion mark in the sequence ? '

Which number Will re

5,12,26,2, 110,299 ‘ \5/‘(/
g

B) 52 (C) 54 (D) 56




VO
1 ?

=TT A
oJ

adt”

129.

o 408 e 1, g oot T LT ﬁ‘"“"f ALY

'ﬂ%m'faﬂ?maa%? (| o i P
(A) ® &  (© W@ (D) forn \

Six friends are sitting in a circle and are facing the centre of the circle. Dee:;;fht;timeen Nﬁdhu and
Unni. Aby is between Biya and Betty. Nandhu and Biya are 0 opposrte to ea

Who is sitting right to Nandhu ?
(A) Aby (B) Deena (C) Betty (D) Biya

(n/5) _ 42n +1 ‘
(1024)") x4 SR s

130. :
16" x 4"~
(n/5) 2n +
Evaluate the expression (1024) ki .
16” % 4n -1

(A) 128 (B) 64 (C) 16 (D) 32
131. 9GWE WH

Complete the analogy.

8:256::27: : :

(A) 729 (B) 216 (C)= 90625 il (D) 6561
132. U Fify=d Fre W, ‘COMPUTER’ %1 ‘DPNQVUFS’ fmmim%im Fe # ‘LAPTOP' &1 $ faa

ST ?

In a certain code, 'COMPUTER‘ is wntten as ‘DPNQVUFS'. How is LAPTOP'wntten in that code ?

(A) MBQUPQ (B) MBQUOP ) (C) MBUQUQ. (D) MQPUPQ
133, f% T YR 3, @ T BA- mﬁwﬂ L.

(A) @R (B) TR (C) WWaR ' (D) WeER

If the day after tomorrow is Friday, what day was yesterday ?,-(i 1Y wsl-nis

(A) Sunday (B) Wednesday (C)  Monday (D) Tuesday
134. 0 D A [ v T R () PN

A Ao O B0 O rA| =R | e
A A A ] A

fice T feredl @ S sfren & smren s T ¢,

Choose the next diagram in the above series from the options given below =

b - @ 0 @ 0 g pora
RzZX-24 19 e .

P.T.0.



135.

136.

137.

138.

139.

RZX-24

(A) 4 days .(B)‘ 3 days

HIE¥F qu {1

T : Foe ;W@ —

A Twm  ©) TR () e o) ¥
Complete the analogy.

Light : Bulb :: Sound : __— "

() Mirophone  (B) Speaker (C)- Mouse (D} Headphiones
Tt yigfse 3@ i

Find the mirror image. :
ARV ANE VANV

% fameq = o awdl @ fi |
Indicate the option that is different from the rest : _
(A) QUSR __ (B) BFDC ©). VW (D) KPML

@qﬁmmw%mw#m,"ﬁﬁﬁé'ﬁmﬁéﬂﬁﬁ%l"aﬂuﬁwmﬁm.m
it 70 OTRA 21 GH] - | :
(A) E (B) W& (C), wmit (D) el

Introducing a woman, Shashi said, “She is the mother of the only daughter of my son.” How that
woman is related to Shashi ?

(A) Daughter-in-law (B) Daughter : ~ (C) Sister-in-law (D) Wife

@ﬁ@%mwwﬁﬁ@ﬁwﬁ%:W,W,ﬁaaﬂtmimﬁwwqﬁﬁﬂ
=t | A ¥ : 3 f, 4 fi, 5 e ol 6 i, e s T T, St e | wem g 1

HUA T ook ¥ 1 1 e T g s T ¥ | S &) T e ved sie) S | s @
goa dm A E? S |

(A) 4fs (B) 3w (C) 5f .~ (D) 7.5
Qerggifi’sg?rshgs ateam of four people : Adam, Brian, Carol and Diana. Each one has a different project
+ 3 days, 4 days, 5 days and 6 days, but not necessarily in that order. Adam’s deadline is

earlier than Carol's. Brian’ ine i TR oo [
i dea iy fian's deadline |sinot the longest. Diana's deadline is the shortest. What 15

! (C) 5days (D) 7 days

20




140.

Trfafes fax § doeo (Yer=E) ot & J6 Hif |

Determine the number of pentagons in the following figure.

O\

(A) 10 ~ (B) 5 (c) 6. (D) 8
141, R forlf 4 9, 58 fod o o A A ot 5 oA o 35 w0 A T
From the figures given, select the one which is most suitable as the last part of the figure.
g
(©) (D) !

142. A F26 8, B 25 T IR T FHR ZH 1 2 v fopan < 2, & ULTRA W1 3 &IH R W@l &
et AT =1 g ? |
If A is substituted by 26, B by 25 and so on upto Z by 1. What will be the sum of numbers substituted
for the word ULTRA? . '
A) 61 (B). 71 (C) 68 (D) 63

143. qah'ﬁmﬁﬂwwﬁmmﬁqaﬂvﬁ_%aﬂtmﬁﬁﬁ%lmmﬁmﬁmﬁm 3 Sfer 36,
goft sr@ AR 3Te, SR Wi & Wfh o7, @ I Fot fora Tl TS ?
A hunter was asked how many birds he had caught and had in his bag. He replied that there weré all
parrots but eight, all ducks but eight, and all swans but eight. How many birds did he catch in total ?
A) 10 ® 9 (c) 18- (D) 12

144, & T sEen ¥ x T HA |
Find x from the given series. o
12, 16, 24, 36, %, 72 '
(A) 62 (B) 52 (C) 50 (D) 48 od

RZX-24 21 P.T.0.




145,

146.

147.

148.

149.

150.

RZX-24

qﬁ@fﬁm,q@a%a%%é%mﬂﬁ%,ﬂ@rﬁm,wémmﬁaﬁﬁ%?

(A) o B) ¥ (€)' = T () (D) T
It Xavier is the brother of the son of Yakub’s son, how is Xavier related to Yakub ?
(A)  Brother () Son- . 1) Cousin (D) Grandson

3t = T 80 7 T 100 WWWW%IWﬁmqﬁQW%7
The price of petrol rises from Rs 80 to Rs.100. What is the percentage increase in price ?
(A)  30% (B) 20% (C) 25% _ (D) 10% . .

Wmmﬁammemm@wwmm% 7 fr el i
G- T AFRFML?
(A) g ' (B) W ©) Rewmm = (D) HYemid

A regular dodecahedron is sliced by a plane passing through two opposite edges and not through any
vertices. What is the shape of the cross-section ?

(A) Rhombus (B) Rectangle (C) Parallelogram (D) Pentagon
Ffafeg & 9 s« @il | _

Find the odd one from the foIIoWin'gi 4

(A) 455 (B) 452 s’ (C) 451 : (D) 453

m@ﬁmﬁmmﬁmwwmmm%aﬂt%ﬁw% a‘rm—ﬁrﬁﬁm
IR 1§ ? ; !
(A) T B W (C) g (D) w&Ha

-

When a cylinder is sliced bya plane paraIIeI to its height and passmg through the center what is the
shape of the cross-section ?° '

(A)  Rectangle (B ).'Ellipse ' X (C)! Triangle  ©* ‘(D) Circle

qgYd T A .

aMfeheR : =qfie : « Triqam : 2 _ ,

(A) =R ®) fere o (G) T, (D) =

Completejthe analogy. ‘

Architect \Blueprint ; : Composéf ¢ : i

(A) - (B) Se:ript____ (C) Stage ' (D) Canvas
-00o0-
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